
Axles & Axle Mounting Plate



Axles & Axle Mounting Plate
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1047714 Axle, Permanent Hardware Assembly (1/2" x 5-1/4") 1 11
1040361 Axle, Quick Release w/ Locknut (1/2" x 5") 1 12 A
1113049 Axle, Quick Release w/ Dome Button, Black 1 13 B
1065303 Axle, Quick Release w/ Flat Button, Black 1 13 C
1069340 Axle, Quad Release w/ Clip 1 14
1130545 Kit, Axle Plate and Bushing Hardware, Silver

Anodized
1 15 D

Nut, Jam (3/4"-16) 1 46
Washer, Stainless Steel (3/4 x 1-1/8 x 1/32") 1 47
Plate, Axle - Right 1 18
Plate, Axle - Left 1 18
Bushing, Threaded Axle 1 29

1154370 Kit, Axle Plate and Bushing Hardware, Black
Anodized

1 15 D
Nut, Jam (3/4"-16) 1 46
Washer, Stainless Steel (3/4 x 1-1/8 x 1/32") 1 47
Bracket, Axle, Rear, Black Anodized - Right 1 18
Bracket, Axle, Rear, Black Anodized - Left 1 18
Bushing, Threaded Axle 1 29

A - Used with Composite Rear Wheels  
B - Used with all Spoke Rear Wheels except 24SPIN, 25SPIN, and 26SPIN  
C - Used with 24SPIN, 25SPIN, and 26SPIN Spoke Rear Wheels  
D - Includes items 6-9  

NOTE:

 


